in  steady stake at €:p°"
W9
Yy
i
Yn

i,

noae Vc:
V..V, =V
12 e

Y- '1\/‘ ¢ V-V, :0
5V, -1V, -V,=0 __(»

node \/ .

[}

V,-V¢
— e

(a T

Vi-a V-

\/‘—\/C rs \/‘—'l/z -t-LV‘ ~Y9= 0

q V' ~\/< —V.L =2 90 e (O

nNode U1=
V, -V o
e i i v, 2, xup
“9 EN “

V-V, 4V, cyv, ¢ 12Y,50

l:’.\/Z—-‘IV. "Vc: 0 ~ ™M

Find i for €70 i the cicevit s

* —— =0 X [
é

!

ey K e
-4V, +5V- \/2_ =0
(QV' - v{_— U’L 34D

Yve- 2Ve: o ... (1)
(0 LD
Qv,-v, -Vyr 90
] < ? .
s N LS’)

-2V, +16Y%: Yo

ke
yyv, -1V, =40 x3
“2Ve +l(pVazto i)

v, - gV, = 320

-2 v, *16V,syo
A (A 2 _r

Zov, : 260
st

V,_: YV, -0

— =

R, - Clae) x 99 _ 29 < L&

Cla+y+vy 37 =14
-2
R, +R, « 20
Eiw'"‘a. '?nf Cil et &




Joof )‘4,‘.

| .
0,01 f1l-0‘f‘fk+2_o,"_+ Zd"

—_— =0

dt
loo 1, +20.d_'l"+ 2_‘_{_"1-;() x 4
dt dt z
d’:
e .
— & (p diL Y s
. m— e gollf’a
é(‘t\ﬁ fo (M asl",
s % (os S0 =0
S.,z,:' —lo im-,g +5
2.— - - )

=St
1,:-e (B,s{q(gt)-f-@; Cos (5¢))

V, s o di
de

el

8-“(58, cos St - §B, sin §é))

- -St =
i Z("s B, 5inSt-SB € os5is

-5¢ -5t
=SB, € siaS£45B € (osSt)

= (-8 -108,) g5t +

~et
(~t0B,+08) € ~ coq ¢

"5'6 \
- o (B8R siaSE L
(0 C8,~8:)€" Cos <t

-5
2(-56 t(B, Sin St 4+ B, cos5 St) +

V(_ <= VR - me

- -5t -
20 (B8, € sinst 48, e

Cos 9‘6)
-5
+ (0 (g‘ + BQC : Sin St -
lo G‘ -8) e-St Ly St

at €=0:
'5L= | = B,

\/c’lZ

v

20 B, -10(B, - 8,

(L = ~20B8, +0 B,- 108,
12 = ~10 B, - 108,

o (=10
B, =
Lo

o T

s a . KR
SR R (st,‘as’é-fcasfé)



